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4)  

5)  

6)  

Correct  Answer  :-
HKO [Option ID = 13680]

In the  given four  options, three  are  related in some  way, find the  odd man out . /

[Question ID  =  10922]

1. Telangana /   [Option ID = 13682]

2. Karnataka /   [Option ID = 13683]

3. Chennai /   [Option ID = 13684]

4. Kerala /   [Option ID = 13685]

Correct  Answer  :-

Chennai /   [Option ID = 13684]

In the  given four  options, three  are  related in some  way, find the  odd man out . /

[Question ID  =  10923]

1. Pigeon /   [Option ID = 13686]

2. Parrot /   [Option ID = 13687]

3. Crow /   [Option ID = 13688]

4. Bird /   [Option ID = 13689]

Correct  Answer  :-

Bird /   [Option ID = 13689]

In the  given four  options, three  are  related in some  way, find the  odd man out . /

[Question ID  =  10924]

1. 15 [Option ID = 13690]
2. 23 [Option ID = 13691]
3. 17 [Option ID = 13692]
4. 29 [Option ID = 13693]

Correct  Answer  :-
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7)  

8)  

9)  

15 [Option ID = 13690]

In the  follow ing Question, there  is  a  certain relationship betw een first tw o words. Find the
fourth word which is  related to the  third word w ith a  similar  relationship. Ex port : Import : : Income
: ? /

[Question ID  =  10925]

1. Loan /  [Option ID = 13694]

2. Deficit /  [Option ID = 13695]

3. Profit /  [Option ID = 13696]

4. Expenditure /  [Option ID = 13697]

Correct  Answer  :-

Expenditure /  [Option ID = 13697]

In the  follow ing Question, there  is  a  certain relationship betw een first tw o words. Find the
fourth word which is  related to the  third word w ith a  similar  relationship. WATCH  : CHTAW  :: PLATE
: ? /

[Question ID  =  10926]

1. TEAPL [Option ID = 13698]
2. TEPAL [Option ID = 13699]
3. TELPA [Option ID = 13700]
4. TEALP [Option ID = 13701]

Correct  Answer  :-
TEALP [Option ID = 13701]

In the  follow ing Question, there  is  a  certain relationship betw een first tw o words. Find the
fourth word which is  related to the  third word w ith a  similar  relationship. Walk ing : Legs  :: Think ing
: ? /

[Question ID  =  10927]
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10)  

11)  

12)  

1. Head /  [Option ID = 13702]

2. Brain /  [Option ID = 13703]

3. Heart /  [Option ID = 13704]

4. Ears /  [Option ID = 13705]

Correct  Answer  :-

Brain /  [Option ID = 13703]

In a  code  ‘BOLD’  is  w ritten as  3492 and ‘FINE’  is  w ritten as  5716, then how  is  ‘FILED ’  coded? /

[Question ID  =  10928]

1. 57962 [Option ID = 13706]
2. 57692 [Option ID = 13707]
3. 57926 [Option ID = 13708]
4. 57269 [Option ID = 13709]

Correct  Answer  :-
57962 [Option ID = 13706]

If ’White’  is  called ‘ red’, ‘ red’  is  called ‘blue’, ‘blue’  is  called ‘green’  and ‘green’  is  called
‘yellow ’, then what is  the  colour  of sky? /

[Question ID  =  10929]

1. Red /   [Option ID = 13710]

2. Green /   [Option ID = 13711]

3. Yellow /   [Option ID = 13712]

4. Blue /   [Option ID = 13713]

Correct  Answer  :-

Green /   [Option ID = 13711]

In a  certain code  ‘ya  mi te’  means  ‘do regular  exercise’ , ‘ya  no ka'  means  'exercise  gives
health'  and 'bu ka  di'  means  'health is  wealth' , then what is  the  code  for  health? /
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13)  

14)  

15)  

[Question ID  =  10930]

1. ya [Option ID = 13714]
2. te [Option ID = 13715]
3. di [Option ID = 13716]
4. ka [Option ID = 13717]

Correct  Answer  :-
ka [Option ID = 13717]

Pointing to a  man Mr. P rasad said that 'he  is  the  grand father  of my daughter ' . How  is  the
man’s  w ife  is  related to the  P rasad? /

[Question ID  =  10931]

1. Sister /   [Option ID = 13718]

2. Mother /   [Option ID = 13719]

3. Sister-in-law /   [Option ID = 13720]

4. Daughter-in-law /   [Option ID = 13721]

Correct  Answer  :-

Mother /   [Option ID = 13719]

Shravya  is  the  sister  of P riyanka  whose  father  is  P rabhu. Manish is  the  son of Rama  who is  the
sister  of P rabhu. How  is  Shravya  related to Manish? /

[Question ID  =  10932]

1. Cousin /   [Option ID = 13722]

2. Sister /   [Option ID = 13723]

3. Sister-in-law /   [Option ID = 13724]

4. Mother /   [Option ID = 13725]

Correct  Answer  :-

Cousin /   [Option ID = 13722]

If A+B  means  A  is  the  w ife  of B, B-C  means  C  is  the  father  of B, how  ‘R’  is  related to ‘Q’  in
R+P-Q? /

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


16)  

17)  

[Question ID  =  10933]

1. Daughter /   [Option ID = 13726]

2. Father /   [Option ID = 13727]

3. Daughter-in-Law /   [Option ID = 13728]

4. Father-in-Law /   [Option ID = 13729]

Correct  Answer  :-

Daughter-in-Law /   [Option ID = 13728]

/

[Question ID  =  10934]

1. South /  [Option ID = 13730]

2. South-West /  [Option ID = 13731]

3. South-East /  [Option ID = 13732]

4. West /  [Option ID = 13733]

Correct  Answer  :-

South-West /  [Option ID = 13731]

A  man facing south walks  for  4km, from there  he  turns  to his  left and walks  for  another  3km.
How  far  is  he  now  from his  starting point? /

[Question ID  =  10935]

1. 8 km [Option ID = 13734]
2. 7 km [Option ID = 13735]
3. 5 km [Option ID = 13736]
4. 4 km [Option ID = 13737]

Correct  Answer  :-
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18)  

19)  

20)  

5 km [Option ID = 13736]

There  are  four  v illages  A,B, C  and D. B  is  on the  south-east of A, C  is  on the  north of B  and
north-east of A. D  is  on the  west of B  in straight l ine  w ith C  and A. In which direction of A, D  is
located? /

[Question ID  =  10936]

1. South-West /  [Option ID = 13738]

2. South /  [Option ID = 13739]

3. West /  [Option ID = 13740]

4. North-East /  [Option ID = 13741]

Correct  Answer  :-

South-West /  [Option ID = 13738]

How  many 7s  are  there  in the  follow ing number  sequence  which are  immediately preceded by
an even number? 6 4 5 7 3 2 7 1 8 9 7 3 4 7 8 2 6 7 5 8 7 2 9 7 /

[Question ID  =  10937]

1. Two /  [Option ID = 13742]

2. Three /  [Option ID = 13743]

3. Four /  [Option ID = 13744]

4. Seven /  [Option ID = 13745]

Correct  Answer  :-

Four /  [Option ID = 13744]

In a  class  of gir ls  Rama  is  8th from top and Padma  is  8th from bottom. If they interchange  their
position, Rama  w ill become  18th from top. How  many gir ls  are  there  in the  class? /
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21)  

22)  

23)  

[Question ID  =  10938]

1. 26 [Option ID = 13746]
2. 24 [Option ID = 13747]
3. 27 [Option ID = 13748]
4. 25 [Option ID = 13749]

Correct  Answer  :-
25 [Option ID = 13749]

Murali remembers  that his  colleagues  Santhosh’s  birthday falls  after  17 October  but before
25th October, whereas  Sreenu remembers  that Santhosh’s  birthday falls  before  19th October  but
after  10th October. On which date  Santhosh celebrates  his  birthday? /

[Question ID  =  10939]

1. 19th October /  [Option ID = 13750]

2. 17th October /  [Option ID = 13751]

3. 18th October /  [Option ID = 13752]

4. Data inadequate /  [Option ID = 13753]

Correct  Answer  :-

18th October /  [Option ID = 13752]

If ‘+ ’  means  'x ' , ‘ - ‘  means  ' / ' , ‘x ’  means  '+ '  and ‘ / ’  means  ' - '  , then find the  value  of the
expression 36-6+2x8-2/ 3 /

[Question ID  =  10940]

1. 15 [Option ID = 13754]
2. 16 [Option ID = 13755]
3. 12 [Option ID = 13756]
4. 13 [Option ID = 13757]

Correct  Answer  :-
13 [Option ID = 13757]

Which of the  follow ing equation is  correct, if the  signs  ‘+  and x ’  &  ‘4 and 5‘  are  interchanged /
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24)  

25)  

26)  

[Question ID  =  10941]

1. 5 x 4 + 20 = 40 [Option ID = 13758]
2. 5 x 4 + 20 = 85 [Option ID = 13759]
3. 5 x 4 + 20 = 104 [Option ID = 13760]
4. 5 x 4 + 20 = 95 [Option ID = 13761]

Correct  Answer  :-
5 x 4 + 20 = 104 [Option ID = 13760]

If P  means  '+ ' , Q means  ' - ' , R means  'x '  and S means  ' / ' , then which of the  follow ing is  correct?
/

[Question ID  =  10942]

1. 3R4S2P5Q3 = 8 [Option ID = 13762]
2. 4P3Q6S2R4 = 2 [Option ID = 13763]
3. 6Q4P5R3S7 = 3 [Option ID = 13764]
4. 5P3S4Q6R3 = -12 [Option ID = 13765]

Correct  Answer  :-
3R4S2P5Q3 = 8 [Option ID = 13762]

Six  fr iends  A,B,C,D,E and F  are  sitting around a  round table  facing centre. A  is  sitting to the  left
of D  and is  on the  opposite  to F. E is  not a  neighbour  to F  but is  on the  opposite  to C. Who is  on the
opposite  to D  /

[Question ID  =  10943]

1. E [Option ID = 13766]
2. B [Option ID = 13767]
3. C [Option ID = 13768]
4. F [Option ID = 13769]

Correct  Answer  :-
B [Option ID = 13767]

Rav i scored more  marks  in chemistry than physics  but not more  than maths, he  scored less
marks  in english than physics  but not less  than telugu. In which subject rav i scored 2nd highest
marks? /
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27)  

28)  

29)  

 [Question ID  =  10944]

1. Physics /   [Option ID = 13770]

2. Maths /   [Option ID = 13771]

3. Chemistry /   [Option ID = 13772]

4. English /   [Option ID = 13773]

Correct  Answer  :-

Chemistry /   [Option ID = 13772]

Arrange  the  words  given in Alphabetical order  as  in dictionary and give  the  sequence  a)
tumbler  b) tabular  c) tortoise  d) torture  e) tablet /

[Question ID  =  10945]

1. ebcda [Option ID = 13774]
2. becda [Option ID = 13775]
3. adcbe [Option ID = 13776]
4. ebadc [Option ID = 13777]

Correct  Answer  :-
ebcda [Option ID = 13774]

Find the  word that cannot be  formed w ith the  letters  of the  word “TABULATION” /

[Question ID  =  10946]

1. LOTION [Option ID = 13778]
2. TUITION [Option ID = 13779]
3. TABLE [Option ID = 13780]
4. NOTIONAL [Option ID = 13781]

Correct  Answer  :-
TABLE [Option ID = 13780]

There  are  8 teams  playing in IPL tournament. If each team has  to play tw ice  w ith another  team,
how  many matches  we  can see  including tw o qualifier  matches, one  eliminator  match and the  final
match? /
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30)  

31)  

[Question ID  =  10947]

1. 56 [Option ID = 13782]
2. 60 [Option ID = 13783]
3. 64 [Option ID = 13784]
4. 32 [Option ID = 13785]

Correct  Answer  :-
60 [Option ID = 13783]

Find the  number  in the  place  of ‘?’  mark. /

[Question ID  =  10948]

1. 50 [Option ID = 13786]
2. 52 [Option ID = 13787]
3. 60 [Option ID = 13788]
4. 81 [Option ID = 13789]

Correct  Answer  :-
52 [Option ID = 13787]

Select a  figure  from amongst the  Answ er  Figures  which w ill continue  the  same  ser ies  as
established by the  problem figure  /
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